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IB 4z K % NET HDCP_ TOTAL OUT __IN OUT NET B4z K % NET HDCP  TOTAL oUT  IN OUT NET

B B AR ER 69 10 79 (38 41 ) 330 BB EH= 68 15 83 (41 42 ) 335
2f1  FAE 3hZ 70 16 86 ( 46 40 ) 380 2f HEEZ 68 11 79 (42 37 ) 365
3hL  HEE A 71 13 84 (43 41 ) 365 3GL  fnin EE 68 12 80 ( 43 37 ) 370
AT A B 72 0 72 (40 32 ) 400 AR BF E# 69 13 82 (43 39 ) 365
5L R EFE /3 11 84 (42 42 ) 365 BRI HR HiT 70 22 92 (45 47 ) 340
6f B s= 74 11 85 ( 43 42 ) 375 6T fEA BETF 71 9 80 ( 40 40 ) 355
Thr IR EER 75 7 82 ( 43 39 ) 395 Th  EMA B\E 71 12 83 (43 40 ) 370
8h K =% 75 5 80 ( 42 38 ) 395 8kt AR E= 72 17 89 ( 45 44 ) 365
O R BRX 75 26 101 ( 53 48 ) 400 9 BHARE L 72 11 83 ( 42 41 ) 365
1067 #84 $kth 75 9 84 (47 37 ) 425 1060 EDD & 73 14 87 (46 41 ) 390
e ®E g 75 28 103 (57 46 ) 430 6L %k BE 74 12 86 (43 43 ) 370
1260 FH E= 76 24 100 ( 47 53 ) 350 1260 FIR W& 74 16 90 (46 44 ) 380
13 BiIE 76 18 94 (47 47 ) 380 1360 AR BE 74 19 93 (48 45 ) 385
1467 PIE %= 76 15 91 (47 44 ) 395 1467 #tHE BF 74 21 95 (49 46 ) 385
1567 R $kib 77 19 96 (46 50 ) 365 1567 &)l 3 75 12 87 (42 45 ) 360
201 =1F |5 78 26 104 ( 54 50 ) 410 200 HE = 76 7 83 (42 41 ) 385
30 FEL A 80 18 98 (49 49 ) 400 306 ®UII F=E 78 10 88 (48 40 ) 430
406 BIFTF &1 83 28 111 (56 55 ) 420 40K ED % 80 20 100 ( 54 46 ) 440
500 1RE EE 82 8 90 (45 45 ) 410
60f EB =— 84 15 99 (47 52 ) 395
BBE &)l A% 87 18 106 (54 51 ) 450 BBY Ek®E 96 28 124 (62 62 ) 480
BGE A [& 72 (40 32 ) Par 72 a—ZL—k  RO—FL—k

B (F) 6,606 yard 713 128

BEitE(H) 6,237  vyard 69.5 123

BEiE(4£) 5892  yard 68.1 119

BEiE(%) 5281  yard 64.9 114

(%) 5281  yard 70.1 123

ZE(FR) 4,878  vyard 67.8 119




